R =

1t

IFT = 2 SR (L BR, 275780) AR IRt R T



No.

H i = Gt i =4 Wy A R )

4 W fi§ 2 i A L LA G IR N VA
X EF N ERE
3.arZ7Y—h L |5 T=23.8 3.8%2.3 8.74t
Bkfpm7U—h115.28 [115.28%2.4 276.672]t
Tz 27U —hR32.9 |32.9%2.4 78.96]t
HREt 364.372]t
151.98|m’

4.2 7V —hE | BRIV

XEE | EW5#

TW5H A1 10% X 330ke 3.3t
1K
INECY FF2H X 480ke 0.96]t
C 2/
sC24& Ft44 X 180ke 0.72]t
J£E3.5F 170kg
AE3F 150ke 0.32[t

pY 5.3t

74.20t 14ffE]Y

YOEEf | EWTVH 330ke+ EWceH 330kg

TWTV 330kg+_EWe 330ke

sK2 160kg

K2 160kg

> 1(0.33%4+0.16%2)% 1255 19.68|t




H i = Gt i =4 Wy A R )

No.

4 B i % i ) 2V L S - S VAR
C1# 180ks
sC14Z 180ke
(0.18+0.18)*14 % 5.04]t
Y1E£m | EWH 330kg
EFWcH 330kg
FWBS 365kg
TWcBS 365kg
TWBM 365ke
sK2 160kg
K1 85kg
K2 160kg
(0.33+0.33+0.365+0.365+0.365+0.16+0.085+0.16)125 25.92|t
B i/ RV 124.84|t
PR I |sF24AE-2 0.5%2
F14-3 0.5%3
F31-2 0.15%2
F54-1 0.775%1
Liti12= 42.91t
DR 2RV 42.91t
6. 2R TH
/NE T $RE |LC-21 LC-2R PL2.3 140%225 2477  0.0714mi
LC-1 LC-1 PL2.3 73%235 5P 0.085775mi
PL 18.06ke/ni (0.0714+0.085775)*65 17.031483 kg GBS




H i = Gt i =4 Wy A R )

No. 3

4 W g &l T = ¥ | H fr fig *&
L-O3-4Fif 616 0.6%12=7.2m*1.56 11.232/kg BT
RG-740-27 7 |C-75%45%15%3.2  (3.25/m*3.7242+2.25%1) %2%2 105.72 kg SN
RG—640-37FT  |C-150%50%20%3.2 6.76/m %3.65%3 74.022 ke SN
L-865-12>f 6.76%6.2%1 41.912/kg BT
L-765-12Ff 6.76%6.2%1 41.912/kg BT
PL-63-17>A C—60%30%10%1.6 1.63/m *5.86 9.5518 ke SN
301.381283 ke BT
En125E) 3.616575396|t <Y
TAHAE T
= 7Y —h 0.2%0.2%0.15%144/7%2.3 1.9872]t FEz ) —]
9 ATH
AR 6.994 m*500ke/ 3.497]t JFEARA
By HipRE12 388.44nt 2.33052|t FEAAA
R EA MR 8/m*29.68 0.23744]t JFEARA
AR 86.4n7*8 0.6912]t FEFEHNET AR
PN ZEES L b
BMIv 0.36+1.872= 1.116]t JFEARA
N—RA—R 2444t3%910%1820 0.0596232]t JFEARA
PEARS JEEE1%5.328 M 77 2 (0.027%9.1%1.82%2447) X 2 2.7701424]t JFEARA




H i = Gt i =4 Wy A R )

No.

4 W g &l T = ¥ | H fr fig *&
11408 L5
& BT | R R AR EtE388.44nf  4ke/nd 1.55376]t & BT
RERAR/LE ¢ 61.=100 1084%  |0.6kg/m 0.1%216 0.01296|t BT
GJELST [ FEAILDPL 0.2%0.1%220=4.4nf  9ke/nt 0.040[t BT
ZE /K EIYPL 0.2%24.25m=4.85m 4ke 0.0194]t BT
= TALUMBEF|L=7.5m 0.16]t & BT
AT KRG 5kg122°Ft 0.06]t BT
PR TH|1L=700 24 15kg24 0.36]t & BT
PR TH]1.=1000 6 30kg12 0.36]t & BT
1276 T.5% 11100 66.12m 0.166.12:0.02%2.0 0.26448|t FEz ) —]
1165 27.3m 0.165%27.3%0.02%2.0 0.18018|t FEz ) —]
PEE/LHIL 446.61/446.6%0.02%2 17.864|t FEz ) —]
Vv Ay FEAN62.4m|100%60  (0.1+0.06)%62.45%0.025%2 0.39936|t 775 A Wik
FE I FBEE LAV 150.94m 50.94%0.025%2 2.547]t ez /) —k
WERE/LZL  [54.6m  54.6%0.025%2 2.73]t Bz 7 —k
MAITELZL 247208 24.72%0.025%2 1.236]t Bz ) —h
HEENLHL 4.92nd  9.84%0.025%2 0.492|t Bz ) —h
135 5 T4 A 0.78+0.12 0.9]t JFEARA
& BT 0.108 0.108|t BT
HZ At t2 12.24ni t3 50.9nmi  t4 61mi  4.7%12.247+7%50.9+7.5%61 0.871328t W7 AWt A
16 M T A oA S BETZ LA
Zof, &R (ST EEE 0.3t BB
oM FEZT  V—T 427 17kg 388.44m/42mi*17 0.157225714|t BE7Z
O ZH3 108/# FHI




H i = Gt i =4 Wy A R )

No.

4 W g &l T = fH ¥ | H fr fii  *&
74— LRYAF L t25 0.025%238nt 5.95|m BE7Z
74— LRYAFLtl5 0.015%91.54 1 1.3731|m BE7Z

17. 15 A 5

FEHEE ¢ 16VI12m  12%1.31/1000 0.01572]t BE77

I A 15A $58% [180m 180%1.31/1000 0.2358]t & BT
BB EE 40VP |50m 0.791%50/1000 0.03955t BE7Z
EEHEEE 50VP |60m 1.122%60/1000 0.06732]t BETZ

B EE 60VP 48m 1.662%48/1000 0.079776t P77
MEEHEE 75VP [48m 2.202%48/1000 0.105696|t BE7Z
K 12 5%24 0.12]t BB
1bkfe K ER 12 [5%24 0.12]t BB
MEHEE A 125VH46m  4.464%46/1000 0.205344 |t P77

B EE 75VP [39m  2.202%39/1000 0.085878|t BE7Z
M E R 60VP |33.6m 1.662%33.6/1000 0.06|t BE7Z
HEHEEE 50VP |60m  1.122%60/1000 0.06732]t BE7Z
B E S 40VP [33.4m 0.791%66.8/1000 0.0528388|t P77

T £94°600%600 |4 AT 93%4 0.372t FEz ) —]
T E£947450%450 [125°FTF  63%12 0.76|t FEz ) —]
B E S 100VH72m  3.409%72/1000 0.25]t BE7Z
BEHE A 125VH29m  4.464%29/1000 0.13]t BE7Z
EEHEE  150VHE52m  6.701%52/1000 0.35]t BE7Z
B E 200VE140m  15.481%140/1000 2.16734t BE7Z
FUeW T &g |12 07 30%12 0.36]t TI5 A thss g
A2 73— AE600%6( 127 FT 63%12 0.7561t FEo 7 —]




H i = Gt i =4 Wy A R )

No.

4 W g &l T = ¥ | H fr fig *&
A 16A $58% [40m  20%1.31/1000 0.0524]t & BT
A A 20A $58k [150m  150%1.68/1000 0.252[t & BT
A—B—4n 127°FT 5%12 0.06]t BESZ
18. FE A
SV —7 v 14mm3c 16m 16 0.69kg m 0.01104]t BT
8mm3c 28m 28 0.44kg m 0.012348t & BT
8mm2c 10m 10 0.335ke,/m 0.00335|t BT
6.5mm2c 56m 56 0.245kg /m 0.01372]t & BT
G WIER
Fr—7 v 2.0%2c 120 0.13kg/m 0.0156]t & BT
1.6%3c 144 0.15kg /m 0.0216]t & BT
1.6%2c 540 0.105kg m 0.0567|t & BT
kT ) A 1271 15kg 0.1800]t BETZ
AR 2 EL 84|5ke 0.4200]t BT
84|/ BER
Fr—71 10| 10%0.335 0.00335|t & IE<d
19. PV B 30%240%1800 |5404%  0.03%0.24%1.8%540%500/1000 3.4992|t AL
FE105%105%1800 |52 0.105%0.105%1.8+52%500/1000 0.51597]t AL
¢ ERE1L=1800 |76 FT 2.25ke/m 0.3078]t & BT
21 BOMNERSE  |USFIE60m W300 |L=600 70ke 7.0000]t Bz 7Y —h
27U —h1.5m  |1.5%2.3 3.4500|t ez 7 —k




No. 1

Mer. B
i&%ﬁﬂ (IJX n+|jﬂ n)_\' )
4 I i B = B {id =
IE% 1.5 A ) (25.1+10.1)%2%10.5 739.2 739.2m1 X 2=1478
777y Ne Y (5.5+25.1)%2E% 61.2 61.2m X 2=122.4
b —h 739.2 739.2m X 2=1478
Nl e 5 22.86%6.06 138.5316 138.5n1 X 2=277
138.5m X 2=277
138.5m X 2=277
JEAR AR AXEFELY 388.11/2 194.055 194.1 11 X 2=388.2
WEHBMEL
a7V —k  F14 (1.2%1.2%0.05+1%10.2+0.5%0.5%0.4+0.3/6((2%1+0.5)% 1+(2%0.5+1)%0.5))*4 2.188
F2 10 (1.7%1.7%0.05+1.5%1.5%0.2+0.5%0.5%0.4+0.3/6((2%1.5+0.5)%1.5+(2%0.5+1.5)%0.5)) 10.195|mi
F3 2 (0.9%0.9%0.05+0.7%0.7%0.3)*2 0.375|nd
12.758 131 X 2=26
PP 15 Hf 16.6%2+29.5 62.7
251k 17.2+30.3+20.2 67.7|m >130.4
7=k 15 4R 2
2 5 F5 2 4 it




4 W g il ) A A
2. AR T2
(AR ) 11 AR T WAEE SV ERGD 388.2|nf
GESEISHES) 22.86%6.06%2=277.0 45 277.00|nt s
277.00|nt 2%
277.00|nt 1[#%
3. 2BE SFEAR A= L) — R N i i AR T
277.00|nt &
277.00|nt 2%
554.00|nt aEl
BEH /N RV 124.84
NI i% 42.90
B TEHENZIL
4 1PEARIR, TR R 7 — MR
277.00|nt 1[#%
75.99%2 151.98|nt
182.16%2 364.32]t
(G 0.13224+0.09009+8.932+1.2735+1.365+0.618+0.246 12.65683




s Eet(FEa 7V —h)

No. 1

4 W g &l T = ¥ | H fr T
a7 —h
ka7 —k  |3.8m T [3.8 8.74lt
Z 115.28m  #kfif=1{115.28 276.672]t 27 ) — RRAR
I 32.9m k= 132.9 78.96t
) 364.372]t 151.98
a7 —k SR
X B [ 74.21t
Y OB [ 19.68+5.04 24.72|t
Y 1B 25.92|t
BE I & & 124.84[t a2 Y=L
PRI IR & 42.9]t
L J)—MSRILEE 167.74[t ]
AEAE L Rz 7)) —h 1.9872]t }:z‘/wﬂ\%lzﬁ:
B LE E/LE L 0.26448|t
0.18018]t
17.864|t
2,547t [ |mys)—hojr
2.73t
1.236]t
0.492t _J
R 2 7Yk R, 0.372lt |
0.76]t
0.756lt  —




No.

B E Eet(FEa /) —b)

4 B = i B = [ SR )A {id
PN B A 7.0000]t
3.4500[t T
EIR0) BEf =z 7 — R 364.372|t
1.9872|t
366.3592t 366.36t
a7 —RR L B 124.84]t
JZS 42.9]t
LKL 25.31366|t
i 193.05366|t 193.05t
S a7 —h kg, 8.8840|t 8.88t
S a7 —h 3.4500]t 3.45t




M= EEtEE)

fiig 2

ek

b

fH K

A4

AR/ N

3.616575396

—

A T H

1.55376

—

0.01296

—

0.040

—

0.0194

0.16

0.06

0.36

0.36

HET

0.108

MET

0.3

T E S i

0.2358

0.12

0.12

0.0524

0.252

—

0.01104

—

0.012348

0.00335

—

0.01372

—

0.0156

0.0216

H {7




No.

i E EEHEE)

4 B fiig 2 i H 2V G G I AR I

0.0567]t

0.4200]t

0.00335]t

E AN 0.3078]t

EJ9) 8.2360]t

A8k 8.236003396|t 8.24t




No.

B E R ORE)
4 W g ) 2 i
AR
AKTH AR T HE 3.497
B HiA 2.33052
A EAIMR 0.23744
PR n Sk 0.0000
I B 0.0000
Al 1.116
SN—RE—R 0.0596232
R YA i 2.7701424
HH T 0.9000
EFEV TS 3.4992
0.51597
0 14.9258956 14.93t




B E REHCaiE )
CA % Bt i3 & B M| H fr

AR FEFRENME T ARANEG A

0.6912]t




RN AREEE SN

HURTA L SEFHGR— )

4 B fiig 2 i H 2V fH S | HAF

A— R

0.0596232]t




RN AREEE SN

K & RO 7 A fiigs)

No.

4 W g &l T = ¥ | H fr i
7 A Bl
0.39936t
HEETH 0.871328]t
far /B Rk L5 0.36]t
FLH aEl 1.630688|t 1.63t




Pavand

HRE A

K Bt

Gd

fiig 2

i H F2V

fH K

BE75

MET

J—T 4T

0.157

0.16t

T —DLRY AT LY

25 0.025%119mt

5.95

BE75

T —DLRY AT LY

t15 0.015%45. 77m

1.3731

BE75

7.3231

7.32m

T E S i

0.01572

0.03955

0.06732

0.079776

0.105696

0.205344

0.085878

0.06

0.06732

BE75

0.0528388

0.25

0.13

0.35

2.16734

0.06

0.1800

EX0)

3.905982

3.91t

7.3231

T4 —DLRJATF L.




MR Y3t

4 B fiig 2 i H 2V fH S | HAF

Vil

METH 108|#z




